Chapter- 7
Division
WORKSHEET
1.Choose the correct answer and fill in the blanks.
a.The answer obtained after division is calied the .. * 4.
\Divisor  ii.Remainder iii.Quotient

b.When any number is divided by 1,the quotient is the number s - / .

fisel  iizero ii.1

c.15 + 3=

-~

.12 il.S il.10
2.Write TRUE for correct answer and FALSE for wrong answer.
i. A number can not be divided by 0.( )
ii. The number which is being divided is the divisor. (5 L <7 )
.12 + 12 =12(f4 - 7)
3.Do as directed.
i.Raju wishes to share 16 toffees among her 4 friends. How many toffees

each will get?
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Everyone has fj toffees.
We write 16 +4=_ 4 X
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il.Put 12 flowers equally in 6 baskets.How many flowers will be there in
each basket?
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Basket1: 2 , Basket2: -, Basket3: ,

Basket 4: 7~ , Basket5: ~___, Basketé6: 2 ,

iii.Divide 14 by 2 using a number line.
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14+2=__7

jv.Fill in the blanks.
35+ 5= _7

7 X5=3%




3.Solve the following.

i.Divide 28 ice -creams equally among 4 students.

ii.Raj reads 54 pages of a book in 6 days. How many
pages did she read in a day ?
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So,she reads ‘l pages in a day.

Is reading book a good habit? Yé‘ﬂno (Put tick).
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